2: Practicing with Percentages
	 
	2006 Cap
	2005 Cap
	05-06 Increase
	05-06 Increase
	Population
	2006 Cap PC
	2005 Cap PC
	05-06 Increase PC

	Country
	(MW)
	(MW)
	(MW)
	(%)
	(thousands)
	(W/person)
	(W/person)
	(W/person)

	US
	11603
	9149
	2454
	26.82%
	304,550
	38.1
	30.04
	8.06

	Australia
	817.3
	579
	238.3
	41.16%
	21,357
	38.27
	27.11
	11.16

	Canada
	1460
	683
	777
	113.76%
	33,313
	43.83
	20.5
	23.32

	China
	2599
	1266
	1333
	105.29%
	1,324,835
	1.96
	0.96
	1.01

	Denmark
	3136
	3128
	8
	0.26%
	5,482
	572.05
	570.59
	1.46

	France
	1567
	757.2
	809.8
	106.95%
	64,473
	24.3
	11.74
	12.56

	Germany
	20622
	18427.5
	2194.5
	11.91%
	82,218
	250.82
	224.13
	26.69

	India
	6270
	4430
	1840
	41.53%
	1,135,147
	5.52
	3.9
	1.62

	Italy
	2123.4
	1718.3
	405.1
	23.58%
	59,619
	35.62
	28.82
	6.79

	Japan
	1309
	1040
	269
	25.87%
	127,690
	10.25
	8.14
	2.11

	Spain
	11630
	10027.9
	1602.1
	15.98%
	46,063
	252.48
	217.7
	34.78

	UK
	1962.9
	1353
	609.9
	45.08%
	60,587
	32.4
	22.33
	10.07


Wind Energy Production (World Wind Energy Association)

Suppose you worked for the PR department at the Department of Energy in 2007 when these data were released. Write a few sentences that put these data in the best possible light, supporting President Bush’s energy policy.
Suppose you worked for an environmental group that advocates for more support for renewable energy sources like wind. Write a few sentences that put these data in the worst possible light, supporting your argument that we are falling further behind the rest of the world.

Suppose you work for a newspaper and are writing a story about these data. Write the opening paragraph and headline. 
3: Fast Food & Obesity (correlation)

There is a negative correlation between the distance from a high school to the nearest fast food restaurant and the obesity rate of the students at that school. (http://www.nytimes.com/2009/03/26/health/nutrition/26obese.html)

Sketch a scatter plot that reflects this information (make up the data, subject to the above information).

What does each dot represent?

What does the x-axis represent? What are the units?

What does the y-axis represent? What are the units?

What does the slope of the line of best fit mean?

What does the y-intercept mean? the x-intercept? Will they be positive or negative?

Pretend you are a high school principal. Make an argument against building a new fast food restaurant across the street from your high school.

Pretend you are a restaurant owner. Make an argument why you should be allowed to build your restaurant across the street from the high school.

Pretend you are a researcher. Now that you know the negative correlation, what further questions do you want to explore? What sort of study would settle the differences between the two argumentative people above?
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1: Lorenz Curves and Gini Coefficients
These first two questions can be done with pencil and paper (using just ten people, as written). If you’re itching to use Excel, feel free to do so – then using more than ten people is possible.)

1. Imagine a country with 10 people, each of whom owns a different amount of wealth

· Distribute $100 among the 10 people (with no two people having the same amount)

· Draw: a line graph


x-axis: the ten people from poorest to richest 



y-axis: the wealth of that person
2. Now, instead of graphing the wealth of each person, graph the cumulative  wealth (their wealth plus the wealth of all people poorer than them – that is, all the people to their left). This is the Lorenz Curve. (Why is this curve always concave up?)
3. What would your Lorenz Curve look like if wealth were equally distributed?

4. Imagine a country with 100 people. What would the Lorenz Curve look like in the following cases. (For simplicity, put the vertical access in percentages of the total wealth instead of dollars.)
· Wealth is equally distributed.

· The richest person owns everything. 

· The bottom 50 own $1 each; the top 50 own $2 each.

· The bottom 40 together own 1% of the wealth; the top 1% owns 38%.
5. Sketch a possible Lorenz Curve for a country in which the following are all true:

· The bottom 10% own nothing.

· The bottom 20% own  5% of the wealth.

· The bottom 50% own 30% of the wealth.

· The top 10% own 30% of the wealth. 
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6. The Gini Coefficient is defined by the following picture:

In a country where income is equally distributed, what is the Gini Coefficient?

In a country where income is completely concentrated, what is the Gini Coefficient?

7. The Gini Coefficient for US Income has gone from roughly .39 in 1968 to about .47 today. Describe what this means. What policies might have contributed to this change? 

8. Given only the information in problem 7, is it possible that the poorest quartile of households had their share of the income increase between 1968 and 2008?  Explain your reasoning, using sketches of possible Lorenz curves to support your thinking.
9. Do you think the Gini Coefficient for wealth is higher or lower than that for income? 
